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’ 100kN/mM%#BZ 5% -l -~ = -|3mEBZS -~ = = —| 100kN/m%#8% % = -~ = -|3mZFBZ B -~ = = =
zh st -l -~ = -| Fhilst -~ = = = st = -~ = -| Fhiist -~ = = =
9 100kN/mM##BZ 5 -l -~ = -|3mEBZ5 -~ = = —| 100kN/m%#8% % = -~ = -|3mZEBZ 5 -~ = = =
zh st -l -~ = -| Fhilst -~ = = = st = -~ = -| Fhiist -~ = = =
3 100kN/mM%#BZ 5 -l -~ = -|3mEBZ5 -~ = = —| 100kN/m%#8% % = -~ = -|3mEFBZ B -~ = = =
zh st -l -~ = -| Fhilst -~ = = = st = -~ = -| Fhiist -~ = = =
4 100kN/mM%#BZ % -l -~ = -|3mEBZ5 -~ = = —| 100kN/m%#8% % = -~ = -|3mZFBZ 5 -~ = = =
zh st -l -~ = -| Fhilst -~ = = = st = -~ = -| Fhiist -~ = = =
5 100kN/mM%#BZ % -l -~ = -|3mEBZ5 -~ = = —| 100kN/m%#8% % = -~ = -|3mZFBZ B -~ = = =
zh st -l -~ = -| Fhilst -~ = = = st = -~ = -| Fhiist -~ = = =
6 100kN/mM%#BZ % -l -~ = -|3mEBZS -~ = = —| 100kN/m%#8% % = -~ = -|3mZFBZ 5 -~ = = =
zh st -l -~ = -| Fhilst -~ = = = st = -~ = -| Fhiist -~ = = =
7 100kN/mM%#BZ 5 -l -~ = -|3mEBZS -~ = = —| 100kN/m%#8% % = -~ = -|3mZFBZ 5 -~ = = =
zh st -l -~ = -| Fhilst -~ = = = FhLst = -~ = -| Fhiist -~ = = =
8 100kN/mM%#BZ % -l -~ = -|3mEBZ5 -~ = = —| 100kN/m%#8% % = -~ = -|3mZFBZ 5 -~ = = =
zh st -l -~ = -| Fhiist -~ = = = st = -~ = -| Fhiist -~ = = =
9 100kN/mM%#BZ % -l -~ = -|3mEBZ5 -~ = = —| 100kN/m%#8% % = -~ = -|3mZFBZ 5 -~ = = =
zh st -l -~ = -| Fhiist -~ = = = FhLst = -~ = -| Fhiist -~ = = =
10 100kN/m##8% % 1.00{0.00 ~ 0.72 110.72| 3m%x#B 25 ol ~ = = —| 100kN/mM%#BZ % 1.00{ 1243 ~ 14.85 110.72| 3m%x#B 25 =l ~ - - =
s 1.00{0.72 ~ 8.50 100.00 Z=h Lot = K - - - st 1.00f 500 ~ 12.43 100.00( Z=h st -~ - - =
11 100kN/m##8% % 1.00{0.00 ~ 0.74 111.00| 3m%x#B 25 ol ~ = = —| 100kN/mM%#BZ % 1.00{ 11.18 ~ 13.36 111.00| 3m%#B 25 =l ~ - - =
s 1.00{0.74 ~ 852 100.00f Z=hki4t+ | 0.00 ~ 8.52| 2.38 12.72 st 1.00f 500 ~ 11.18 100.00f Z=hl4+ | 5.00 ~ 13.36] 2.38 12.72
12 100kN/m##8% % 1.00{ 0.00 ~ 0.63 109.35|3m%*x#B 25 ol ~ = = —| 100kN/mM%#BZ % 1.00{ 10.97 ~ 12.77 109.35| 3m%x#B 25 =l ~ - - =
s 1.00]0.63 ~ 8.41 100.00f Zhl9t |0.00 ~ 8.41| 234 12.54 s 1.00f 5.00 ~ 10.97 100.00f Zhlst | 5.00 ~ 1277 2.34 12.54
13 100kN/m##8% % 1.00{0.00 ~ 1.82 127.97|3m%x#B25 ol ~ = = —| 100kN/mM%#BZ % 1.00{ 10.74 ~ 17.09 127.97|3m%E{B25 =l ~ - - =
s 1.00{1.82 ~ 9.60 100.00f Z=hkl4t | 0.00 ~ 9.60| 249 13.33 s 1.00f 5.00 ~ 10.74 100.00f Zhlst | 5.00 ~ 17.09] 2.49 13.33
14 100kN/m##8% % 1.00]0.00 ~ 1.31 119.77| 3m%x#B 25 ol ~ = = —| 100kN/mM%#BZ % 1.00{ 10.60 ~ 14.70 119.77| 3m%E#B 25 =l ~ - - =
s 1.00{1.31 ~ 9.09 100.00f Zhkl4t |0.00 ~ 9.09] 2.25 12.02 s 1.00f 5.00 ~ 10.60 100.00f Z=hl4t | 5.00 ~ 1470 2.25 12.02
15 100kN/mM%#BZ 5 -l -~ = -|3mEBZ5 -~ = = —| 100kN/m%#8% % = -~ = -|3mZFBZ 5 -~ = = =
ZTh st 1.00/0.00 ~ 6.68 84.39| =hLlst | 0.00 ~ 6.68] 1.89 10.12 s 1.00f 500 ~ 8.43 84.39] #nLl4t | 500 ~ 843| 1.89 10.1_2
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